Addition

Das Ergebnis nennt

- |
addieren man S“mw

52 2 238 508 25
+ 30 % + 410 3 + 1 46 + 631
10 5 9 0 L

+ 136 + 125 £ 112 + 15 1
8 6 ANE 237 50 &

1k 3 + 215 £330 +30 8
325 2.8 & 365 345
4512 + 6012 £ 118 +136 3
6 2 339 85 288

123 £+ 516 16 6 +5 7 3
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‘

Das Ergebnis nennt
man Differenz!

N
2 8 2 13 7 354 2 41
- 176 - 126 - 255 -1k
308 L 416 3 L 6 20
- 269 - 200 -213 - 309
113 8 0 2 341 4110
-1 3 - 575 -2 2 -2 46
35 % 75 7 5 31 5 3 k4
- 150 - 32 k% -28 -2 22
56 35 889 189
-2 40 - 10 % -20 2 -129

www.fraumohrsrasselbande.at  www.getschoolcraft.com  www.scrappindoodles.com



Multiplikatio

d Das Ergebnis nennt

multiplizieren man Produkt!
55 .4 66 - 3 16«9 ANRE
76 -« 29 .7 36 - 9 58 - &
67 - 2 50 -5 L 0 - 3 59 -8
326 + 3 263« 2 338 -2
120 -6 272 -3 314 -3
316 -3 450 - 2 L L8 .9
L 59 -2 115 -5 L6 6 - 2
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Division

Das Ergebnis nennt

dividieren man Qu"tw
13216 = 935 : 5 =
306 : 9 = L0 & b =
216 ¢ 4 = T 14 26 =
T4 71 7 = 660 : 5 =
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Addition

Das Ergebnis nennt

- |

addieren man S“mw
52 2 238 508 25
+ 30 % + 410 3 + 1 46 + 631

1 1
SE ANE 554 B
10 5 9 0 L
+ 136 + 125 £ 112 + 15 1
ANE 577 3182 37919
786 ANE 237 50 &
1k 3 + 215 £330 +30 8
1 1 1
I 8163 51617 KW
325 2.8 & 365 345
4512 + 6012 £ 118 +136 3
1 1

8137 5796 L1813 ANE
6 2 339 285 288
123 £+ 516 16 6 +5 7 3
1 111 111
ABRE 31515 L1517 861
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‘

Das Ergebnis nennt
man Differenz!

N
2 8 2 13 7 354 2 41
- 176 - 126 - 255 -1k
1 111
1106 111 919 1100
308 L 416 3 L 6 20
- 269 - 200 -213 - 309
111 1
319 2|46 11711 3111
113 8 0 2 341 4110
- 103 - 575 - 227 -2 46
111 1 111
110 2127 1114 1164
35 % 75 7 5 31 5 3 k4
- 150 - 32 k% -28 -2 22
1
2107 4133 2151 311]2
56 135 889 189
-2 40 - 10 % -20 2 -129
1
312|7 2|8 6|87 6|0
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Das Ergebnis nennt
man Produkt!
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Division

Das Ergebnis nennt

dividieren man Quoue/”i)’

32 :6=1202 935 :5 =187
2 5
112 L3
112 L0
0 315
35
0

306 :9=234 L Ok k=10 1
217 N
316 010
306 0
0 0k
I
0

216 14 =514 114 16 =129
210 6
116 5%
176 5%
0 0

L 77 =0 660 :5=12302
an 5
0|7 16
7 15
0 170
10
0
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